COLVILLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Brook trout (fontinalis)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	22,500	225
Planted	22,000	220

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2011	05/2011	SPOKANE HATCHERY	22,500	100.0	225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	3,500	100.0	35	JUVENILE	FERRY CO LAKES		
06/2011	06/2011	12,000	100.0	120	JUVENILE	PEND OREILLE CO LAKES		
06/2011	06/2011	6,500	100.0	65	JUVENILE	STEVENS CO LAKES		

Memo:

COLVILLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species:Cutthroat (clarki)Run:WESTSLOPEStock:KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	325,000	
Shipping	105,000	420
Received		
Planted	100,000	400

Estimated Brood Data

Egg Take Goal 325,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	SPOKANE HATCHERY	105,000	250.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	15,000	250.0	60	JUVENILE	FERRY CO LAKES		
10/2010	10/2010	70,000	250.0	280	JUVENILE	PEND OREILLE CO LAKES		
10/2010	10/2010	15,000	250.0	60	JUVENILE	STEVENS CO LAKES		

Memo:

COLVILLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: REDBAND

Stock: PHALON LK (STEV)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	7,500	
Shipping		
Received		
Planted	3,000	120

Estimated Brood Data

Egg Take Goal 7,500

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	05/2011	3,000	25.0	120	JUVENILE	STEVENS CO LAKES		

Memo:

COLVILLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: MEADOW CREEK (MDCK)

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	250,000	1,250
Received	250,000	0
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2010	11/2010	SPOKANE HATCHERY	250,000		0	EGGS EYED
Shipped	05/2011	05/2011	COLVILLE TRIBE HATCHERY	250,000	200.0	1,250	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo:

COLVILLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: Rainbow trout (mykiss)

Run: REDBAND

Stock: PHALON LK (STEV)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	7,500	
Shipping		
Received		
Planted	3,000	120

Estimated Brood Data

Egg Take Goal 7,500

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	05/2012	3,000	25.0	120	JUVENILE	STEVENS CO LAKES		

Memo:

COLVILLE TRIBE HATCHERY

COLVILLE TRIBE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: MEADOW CREEK (MDCK)

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	520,000	0
Received	500,000	1,250
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	SPOKANE HATCHERY	520,000		0	EGGS EYED
Received	11/2010	11/2010	SPOKANE HATCHERY	250,000		0	EGGS EYED
Received	05/2011	05/2011	COLVILLE HATCHERY	250,000	200.0	1,250	JUVENILE

Estimated Release Data

	_	_						_
Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo:

COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER
Stock: WALLOWA R
Brood Origin: HATCHERY
Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	202,500	33,750
Planted	200,000	44,444

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2011	02/2011	LYONS FERRY HATCHERY	202,500	6.0	33,750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+LV+PT	✓
04/2011	04/2011	14,000	4.5	3,111	JUVENILE	GRAND RONDE R35.2192	AD+LV	✓
04/2011	04/2011	180.000	4.5	40.000	JUVENILE	GRAND RONDE R35.2192	AD	

Memo: Eggtake Goal dependant on IHN detection.

COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER
Stock: WALLOWA R
Brood Origin: HATCHERY
Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take	220,000	
Shipping	220,000	0
Received	162,500	27,083
Planted	160,000	35,555

Estimated Brood Data

Egg Take Goal 220,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2011	04/2011	LYONS FERRY HATCHERY	220,000		0	EGGS GREEN
Received	02/2012	02/2012	LYONS FERRY HATCHERY	162,500	6.0	27,083	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+LV+PT	✓
04/2012	04/2012	14,000	4.5	3,111	JUVENILE	GRAND RONDE R35.2192	AD+LV	✓
04/2012	04/2012	140,000	4.5	31.111	JUVENILE	GRAND RONDE R35,2192	AD	

Memo: Eggtake Goal dependant on IHN detection.

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Total # Total Pounds

Egg Take
Shipping
Received
Planted 55,000 9,167

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	55,000	6.0	9,167	JUVENILE	CURLEW LK (FERR)		

Memo:

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	60,000	1,000
Planted	55,000	9,167

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2011	05/2011	SPOKANE HATCHERY	60,000	60.0	1,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2011	10/2011	55,000	6.0	9,167	JUVENILE	CURLEW LK (FERR)		

Memo:

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: LYONS FERRY HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	86,000	14,333
Planted	85,000	18,889

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2011	02/2011	LYONS FERRY HATCHERY	86,000	6.0	14,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	65,000	4.5	14,444	JUVENILE	TOUCHET R 32.0097	AD	
04/2011	04/2011	3,500	4.5	778	JUVENILE	TOUCHET R 32.0097	AD+LV+PT	✓
04/2011	04/2011	16,500	4.5	3,667	JUVENILE	TOUCHET R 32.0097	AD+LV	✓

Memo:

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: LYONS FERRY HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Total # Total Pounds

Egg Take
Shipping
Received 86,000 14,333
Planted 85,000 18,889

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2012	02/2012	LYONS FERRY HATCHERY	86,000	6.0	14,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	3,500	4.5	778	JUVENILE	TOUCHET R 32.0097	AD+LV+PT	✓
04/2012	04/2012	16,500	4.5	3,667	JUVENILE	TOUCHET R 32.0097	AD+LV	✓
04/2012	04/2012	65.000	4.5	14,444	JUVENILE	TOUCHET R 32.0097	AD	

Memo:

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Triploids

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	25,500	425
Planted	24,000	1,600

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	FORD HATCHERY	25,500	60.0	425	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	24,000	15.0	1,600	JUVENILE	DEER LK (STEV)		

Memo:

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Triploids

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	25,500	425
Planted	24,000	1,600

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	FORD HATCHERY	25,500	60.0	425	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2012	05/2012	24,000	15.0	1,600	JUVENILE	DEER LK (STEV)		

Memo:

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

Memo: Triploids.

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

Memo: Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2007

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	12/2010	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2010	12/2010	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2008

Species: Brook trout (fontinalis)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	2,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	12/2010	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2010	12/2010	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Goldendale, Tokul, Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2008

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	2,000	4,000

Page 21

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2011	12/2011	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2011	12/2011	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

Thursday, July 29, 2010

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2008

Species:Cutthroat (clarki)Run:WESTSLOPEStock:KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	1,800	1,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	1.800	1.0	1.800	BROODSTOCK	PEND OREILLE CO LAKES		

Memo: Ford Transfer is Captive Brood replacement.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Brook trout (fontinalis)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,100	28
Planted	2,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2010	06/2010	SPOKANE HATCHERY	2,100	75.0	28	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2011	12/2011	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2011	12/2011	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Goldendale, Tokul, Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,100	420
Planted	2,000	4,000

Page 24

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2011	04/2011	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2012	12/2012	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2012	12/2012	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

	M	lemo
--	---	------

Thursday, July 29, 2010

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species:Cutthroat (clarki)Run:WESTSLOPEStock:KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,000	100
Planted	1,800	1,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2010	06/2010	SPOKANE HATCHERY	2,000	20.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2011	10/2011	1.800	1.0	1.800	BROODSTOCK	PEND OREILLE CO LAKES		

Memo: Ford Transfer is Captive Brood replacement.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	15,000	750
Received		
Planted	232,800	54,200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	DIAMOND LK NP	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
03/2011	04/2011	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2011	04/2011	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2011	04/2011	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2011	04/2011	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2011	04/2011	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2011	05/2011	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: 165,000 are triploids. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

ounds

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	DEER LK NET PENS	25,500	60.0	425	JUVENILE
Shipped	10/2010	10/2010	ELECTRIC CITY NP	128,000	60.0	2,133	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	572,000	60.0	9,533	JUVENILE	BANKS LK (GRAN)		

Memo:

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Brook trout (fontinalis)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Total #	Total Pounds
400,000	
231,000	0
2,100	28
2,000	2,000
	400,000 231,000 2,100

Estimated Brood Data

Egg Take Goal 400,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2010	12/2010	CHELAN HATCHERY	100,000		0	EGGS EYED
Shipped	12/2010	12/2010	GOLDENDALE HATCHERY	75,000		0	EGGS EYED
Shipped	12/2010	12/2010	SPOKANE HATCHERY	50,000		0	EGGS EYED
Shipped	12/2010	12/2010	TOKUL CR HATCHERY	6,000		0	EGGS EYED
Received	06/2011	06/2011	SPOKANE HATCHERY	2,100	75.0	28	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2012	12/2012	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2012	12/2012	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Goldendale, Tokul, Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	850,000	
Shipping	666,000	0
Received	2,100	420
Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal 850,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2010	11/2010	MOSSYROCK HATCHERY	68,000		0	EGGS EYED
Shipped	12/2010	12/2010	CHELAN HATCHERY	50,000		0	EGGS EYED
Shipped	12/2010	12/2010	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Shipped	12/2010	12/2010	KENDALL CR HATCHERY	18,000		0	EGGS EYED
Shipped	12/2010	12/2010	PUYALLUP HATCHERY	110,000		0	EGGS EYED
Shipped	12/2010	12/2010	SPOKANE HATCHERY	375,000		0	EGGS EYED
Shipped	12/2010	12/2010	VANCOUVER HATCHERY	25,000		0	EGGS EYED
Received	04/2012	04/2012	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2013	12/2013	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2013	12/2013	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

Memo:

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species:Cutthroat (clarki)Run:WESTSLOPEStock:KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,000	100
Planted	1,800	1,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2011	06/2011	SPOKANE HATCHERY	2,000	20.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2012	10/2012	1.800	1.0	1.800	BROODSTOCK	PEND OREILLE CO LAKES		

Memo: Ford Transfer is Captive Brood replacement.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	15,000	750
Received	425,000	0
Planted	317,800	55,050

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2010	12/2010	SPOKANE HATCHERY	425,000		0	EGGS EYED
Shipped	10/2011	10/2011	DIAMOND LK NP	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	40,000	100.0	400	JUVENILE	PEND OREILLE CO LAKES		
05/2011	05/2011	45,000	100.0	450	JUVENILE	STEVENS CO LAKES		
10/2011	10/2011	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
03/2012	04/2012	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2012	04/2012	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2012	04/2012	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2012	04/2012	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2012	04/2012	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2012	05/2012	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: 165,000 are triploids. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	153,500	2,558
Received	1,200,000	0
Planted	725,500	9,968

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2011	01/2011	LK WHATCOM HATCHERY	1,200,000		0	EGGS EYED
Shipped	10/2011	10/2011	DEER LK NET PENS	25,500	60.0	425	JUVENILE
Shipped	10/2011	10/2011	ELECTRIC CITY NP	128,000	60.0	2,133	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	100,000	600.0	167	JUVENILE	CHAPMAN LK (SPOK)		
06/2011	06/2011	40,000	200.0	200	JUVENILE	BANKS LK (GRAN)		
06/2011	06/2011	13,500	200.0	68	JUVENILE	DEEP LK (GRAN)		
10/2011	10/2011	572,000	60.0	9,533	JUVENILE	BANKS LK (GRAN)		

Memo:

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: SULLIVAN LK STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	175,000	0
Planted	107,000	535

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2010	01/2011	SPOKANE HATCHERY	175,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	107,000	200.0	535	JUVENILE	BANKS LK (GRAN)		

Memo:

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: tiger trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	1,000,000	
Shipping	145,000	1,117
Received		
Planted	20,000	200

Estimated Brood Data

Egg Take Goal 1,000,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2010	11/2010	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Shipped	11/2010	11/2010	KENDALL CR HATCHERY	10,000		0	EGGS EYED
Shipped	12/2010	12/2010	CHELAN HATCHERY	25,000		0	EGGS EYED
Shipped	05/2011	05/2011	COLUMBIA BASIN HATCH	25,000	100.0	250	JUVENILE
Shipped	06/2011	06/2011	SPOKANE HATCHERY	65,000	75.0	867	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	20 000	100.0	200	IIIVENII E	PEND ORFILLE COLLAKES		

Memo: Even years only for Goldendale.

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	750,000	50,000
Planted	740,000	148,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	SHERMAN CR HATCHERY	300,000	15.0	20,000	JUVENILE
Received	10/2010	10/2010	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	740,000	5.0	148,000	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo:

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	750,000	50,000
Planted	740,000	148,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	SHERMAN CR HATCHERY	300,000	15.0	20,000	JUVENILE
Received	10/2011	10/2011	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2012	05/2012	740,000	5.0	148,000	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo:

LOON LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: tiger trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	10,000	500
Planted	9,500	1,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	SPOKANE HATCHERY	10,000	20.0	500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	9,500	5.0	1,900	JUVENILE	LOON LK (STEV)		

Memo:

LOON LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: tiger trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	10,000	500
Planted	9,500	1,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	SPOKANE HATCHERY	10,000	20.0	500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2012	05/2012	9,500	5.0	1,900	JUVENILE	LOON LK (STEV)		

Memo:

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Chinook salmon (tshawytscha)

FALL Run:

Stock: LYONS FERRY HATCHERY

Brood Origin: MIXED Integrated/Segregated:

INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	465,000	38,751
Received		
Planted	450,000	45,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2011	02/2011	NEZ PERCE TRIBAL FAC	155,000	12.0	12,917	JUVENILE
Shipped	03/2011	03/2011	NEZ PERCE TRIBAL FAC	155,000	12.0	12,917	JUVENILE
Shipped	03/2011	03/2011	NEZ PERCE TRIBAL FAC	155,000	12.0	12,917	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	225,000	10.0	22,500	JUVENILE	LYONS FERRY REL.SITE	AD	✓
04/2011	04/2011	225,000	10.0	22,500	JUVENILE	LYONS FERRY REL.SITE		✓

Memo: 10% of releases are PIT tagged.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Chinook salmon (tshawytscha)

Run: SPRING

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	230,000	7,667
Received		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	TUCANNON HATCHERY	230,000	30.0	7,667	JUVENILE

Estimated Release Data

Start Date End	Date Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: For release from Curl Lake Acclimation Pond. Transfer size between 25-30 fpp.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds		
Egg Take				
Shipping	6,600	3,300		
Received				
Planted	98,435	41,013		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2010	10/2010	IDAHO -FISH & GAME	4,950	3.0	1,650	JUVENILE
Shipped	09/2010	10/2010	NEZ PERCE TRIBAL FAC	1,650	1.0	1,650	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2011	03/2011	3,600	2.5	1,440	JUVENILE	ADAMS CO LAKES		
02/2011	03/2011	20,000	2.5	8,000	JUVENILE	ASOTIN CO LAKES		
02/2011	03/2011	150	0.7	224	JUVENILE	COLUMBIA CO LAKES		
02/2011	03/2011	26,335	2.5	10,534	JUVENILE	COLUMBIA CO LAKES		
02/2011	03/2011	16,000	2.5	6,400	JUVENILE	FRANKLIN CO LAKES		
02/2011	03/2011	27,500	2.5	11,000	JUVENILE	WALLA WALLA CO LAKES		
02/2011	03/2011	1,200	0.7	1,791	JUVENILE	WALLA WALLA CO LAKES		
02/2011	03/2011	150	0.7	224	JUVENILE	WHITMAN CO LAKES		
02/2011	03/2011	3,500	2.5	1,400	JUVENILE	WHITMAN CO LAKES		

Memo: Fish shipped to IDFG are triploids.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: TOUCHET R - ENDEMIC

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	12,000	2,666

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	6,000	4.5	1,333	JUVENILE	TOUCHET R 32.0097	PT	✓
04/2011	04/2011	6,000	4.5	1,333	JUVENILE	TOUCHET R 32.0097	PT	✓

Memo: Direct stream releases above Dayton Acclimation Pond.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Chinook salmon (tshawytscha)

Run: FALL

Stock: LYONS FERRY HATCHERY

Brood Origin: MIXED **Integrated/Segregated:** INTEGRATED

Total # Total Pounds

Egg Take 4,900,000

Shipping 3,707,000 57,710

Received Planted 850,000 53,000

Estimated Brood Data

Egg Take Goal 4,900,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2010	12/2010	IDAHO -FISH & GAME	211,000		0	EGGS EYED
Shipped	12/2010	12/2010	OREGON- IRRIGON HATCHERY	767,000		0	EGGS EYED
Shipped	12/2010	12/2010	OREGON-UMATILLA HATCHERY	842,000		0	EGGS EYED
Shipped	05/2011	05/2011	NEZ PERCE TRIBAL FAC	406,000	75.0	5,413	JUVENILE
Shipped	05/2011	05/2011	NEZ PERCE TRIBAL FAC	508,000	75.0	6,773	JUVENILE
Shipped	05/2011	05/2011	NEZ PERCE TRIBAL FAC	508,000	75.0	6,773	JUVENILE
Shipped	02/2012	02/2012	NEZ PERCE TRIBAL FAC	155,000	12.0	12,917	JUVENILE
Shipped	03/2012	03/2012	NEZ PERCE TRIBAL FAC	155,000	12.0	12,917	JUVENILE
Shipped	03/2012	03/2012	NEZ PERCE TRIBAL FAC	155,000	12.0	12,917	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2011	06/2011	200,000	50.0	4,000	JUVENILE	COUSE CR 35.2147	AD	✓
06/2011	06/2011	200,000	50.0	4,000	JUVENILE	LYONS FERRY REL.SITE	AD	✓
04/2012	04/2012	225,000	10.0	22,500	JUVENILE	LYONS FERRY REL.SITE	AD	✓
04/2012	04/2012	225,000	10.0	22,500	JUVENILE	LYONS FERRY REL.SITE		\checkmark

Memo: 10% of releases are PIT tagged.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Chinook salmon (tshawytscha)

Run: SPRING

Stock: TUCANNON R 35.0009

Brood Origin: MIXED **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	260,000	
Shipping	230,000	7,667
Received		
Planted		

Estimated Brood Data

Egg Take Goal 260,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2011	10/2011	TUCANNON HATCHERY	230,000	30.0	7,667	JUVENILE

Estimated Release Data

Start Date End Dat	e Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type Tagged

Memo: For release from Curl Lake Acclimation Pond. Transfer size between 25-30 fpp.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	166,600	5,967
Received	340,000	0
Planted	98,435	40,983

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2010	12/2010	SPOKANE HATCHERY	340,000		0	EGGS EYED
Shipped	05/2011	05/2011	IDAHO -FISH & GAME	160,000	60.0	2,667	JUVENILE
Shipped	09/2011	10/2011	IDAHO -FISH & GAME	4,950	3.0	1,650	JUVENILE
Shipped	09/2011	10/2011	NEZ PERCE TRIBAL FAC	1,650	1.0	1,650	JUVENILE

Memo: Fish shipped to IDFG are triploids.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2012	03/2012	16,000	2.5	6,400	JUVENILE	ADAMS CO LAKES		
02/2012	03/2012	14,000	2.5	5,600	JUVENILE	ASOTIN CO LAKES		
02/2012	03/2012	100	0.7	149	JUVENILE	COLUMBIA CO LAKES		
02/2012	03/2012	50	0.7	75	JUVENILE	COLUMBIA CO LAKES		
02/2012	03/2012	26,635	2.5	10,654	JUVENILE	COLUMBIA CO LAKES		
02/2012	03/2012	15,500	2.5	6,200	JUVENILE	FRANKLIN CO LAKES		
02/2012	03/2012	22,300	2.5	8,920	JUVENILE	WALLA WALLA CO LAKES		
02/2012	03/2012	800	0.7	1,194	JUVENILE	WALLA WALLA CO LAKES		
02/2012	03/2012	400	0.7	571	JUVENILE	WALLA WALLA CO LAKES		
02/2012	03/2012	100	0.7	149	JUVENILE	WHITMAN CO LAKES		
02/2012	03/2012	50	0.7	71	JUVENILE	WHITMAN CO LAKES		
02/2012	03/2012	2,500	2.5	1,000	JUVENILE	WHITMAN CO LAKES		

Memo: Fish shipped to IDFG are triploids.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: LYONS FERRY HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Total # Total Pounds

Egg Take 520,000

Shipping 86,000 14,333

Received Planted 260,000 57,779

Estimated Brood Data

Egg Take Goal 520,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2011	02/2011	DAYTON ACCLIMA. POND	86,000	6.0	14,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	16,500	4.5	3,667	JUVENILE	LYONS FERRY REL.SITE	AD+LV	✓
04/2011	04/2011	140,000	4.5	31,111	JUVENILE	LYONS FERRY REL.SITE	AD	
04/2011	04/2011	3,500	4.5	778	JUVENILE	LYONS FERRY REL.SITE	AD+LV+PT	✓
04/2011	04/2011	80,000	4.5	17,778	JUVENILE	WALLA WALLA R32.0008	AD	
04/2011	04/2011	3,500	4.5	778	JUVENILE	WALLA WALLA R32.0008	AD+LV+PT	✓
04/2011	04/2011	16,500	4.5	3,667	JUVENILE	WALLA WALLA R32.0008	AD+LV	✓

Memo: Goal varies due to IHN.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: TOUCHET R - ENDEMIC

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	65,000	
Shipping		
Received		
Planted	56,000	12,444

Estimated Brood Data

Egg Take Goal 65,000

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	42,000	4.5	9,333	JUVENILE	TOUCHET R 32.0097		✓
04/2011	04/2011	8,000	4.5	1,778	JUVENILE	TOUCHET R 32.0097	PT	✓
04/2012	04/2012	6.000	4.5	1,333	JUVENILE	TOUCHET R 32.0097	PT	✓

Memo: Direct stream releases above Dayton Acclimation Pond.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: TUCANNON R - ENDEMIC

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	90,000	
Shipping	75,500	13,727
Received		
Planted		

Estimated Brood Data

Egg Take Goal 90,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2011	02/2011	TUCANNON HATCHERY	75,500	5.5	13,727	JUVENILE

Estimated Release Data

Start Date End Dat	e Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type Tagged

Memo: Acclimate at Tucannon Hatchery prior to release.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER
Stock: WALLOWA R
Brood Origin: HATCHERY
Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	202,500	33,750
Received		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2011	02/2011	COTTONWOOD CR POND	202,500	6.0	33,750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Eggtake Goal dependant on IHN detection.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: LYONS FERRY HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	480,000	
Shipping	86,000	14,333
Received		
Planted	260,000	57,779

Estimated Brood Data

Egg Take Goal 480,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2012	02/2012	DAYTON ACCLIMA. POND	86,000	6.0	14,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	16,500	4.5	3,667	JUVENILE	LYONS FERRY REL.SITE	AD+LV	✓
04/2012	04/2012	140,000	4.5	31,111	JUVENILE	LYONS FERRY REL.SITE	AD	
04/2012	04/2012	3,500	4.5	778	JUVENILE	LYONS FERRY REL.SITE	AD+LV+PT	✓
04/2012	04/2012	80,000	4.5	17,778	JUVENILE	WALLA WALLA R32.0008	AD	
04/2012	04/2012	3,500	4.5	778	JUVENILE	WALLA WALLA R32.0008	AD+LV+PT	✓
04/2012	04/2012	16,500	4.5	3,667	JUVENILE	WALLA WALLA R32.0008	AD+LV	✓

Memo: Goal varies due to IHN.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: TOUCHET R - ENDEMIC

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

Total # Total Pounds

Egg Take 65,000

Shipping Received Planted 56,000 12,444

Estimated Brood Data

Egg Take Goal 65,000

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	8,000	4.5	1,778	JUVENILE	TOUCHET R 32.0097	PT	\checkmark
04/2012	04/2012	42,000	4.5	9,333	JUVENILE	TOUCHET R 32.0097		\checkmark
04/2013	04/2013	6,000	4.5	1,333	JUVENILE	TOUCHET R 32.0097	PT	\checkmark

Memo: Direct stream releases above Dayton Acclimation Pond.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: TUCANNON R - ENDEMIC

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	90,000	
Shipping	75,500	13,727
Received		
Planted		

Estimated Brood Data

Egg Take Goal 90,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2012	02/2012	TUCANNON HATCHERY	75,500	5.5	13,727	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Acclimate at Tucannon Hatchery prior to release.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER
Stock: WALLOWA R
Brood Origin: HATCHERY
Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	162,500	27,083
Received	220,000	0
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2011	04/2011	COTTONWOOD CR POND	220,000		0	EGGS GREEN
Shipped	02/2012	02/2012	COTTONWOOD CR POND	162,500	6.0	27,083	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Eggtake Goal dependant on IHN detection.

REG 1 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	2,750	0
Received	5,700	0
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2010	12/2010	SPOKANE HATCHERY	5,700		0	EGGS EYED
Shipped	01/2011	01/2011	TUCANNON HATCHERY	2,750		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
Juli C Dutc	Liid Date	itaiii itelease		i otai i oaiias	Enc Stage	itelease site	wark rypc	. uppcu

Memo: Dayton ES, Pomeroy ES, Clarkston ES and Walla Walla County Schools.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	300,000	20,000
Received	300,000	3,333
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2010	06/2010	SPOKANE TRIBAL HATCHERY	300,000	90.0	3,333	JUVENILE
Shipped	10/2010	10/2010	LK ROOSEVELT NP (COL	300,000	15.0	20,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Triploids.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	300,000	20,000
Received	300,000	3,333
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2011	06/2011	SPOKANE TRIBAL HATCHERY	300,000	90.0	3,333	JUVENILE
Shipped	10/2011	10/2011	LK ROOSEVELT NP (COL	300,000	15.0	20,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Triploids.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	300,000	12,000
Planted	285,000	47,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2012	03/2012	SPOKANE TRIBAL HATCHERY	300,000	25.0	12,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2012	05/2012	285,000	6.0	47,500	JUVENILE	ROOSEVELT LK (OKAN)		

Memo: Portion of program maybe BC Stock.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: White sturgeon (transmontanus)

Run: NA

Stock: LK ROOSEVELT (53)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	145,000	
Shipping	145,000	0
Received		
Planted		

Estimated Brood Data

Egg Take Goal 145,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	07/2010	07/2010	COLUMBIA BASIN HATCH	145,000		0	EGGS GREEN

Estimated Release Data

Start Date this Date inviti release FFF i total Fourius the Stake release Site ivial Kindik i vue i lakkeu	Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
--	------------	----------	-------------	-----	--------------	------------	--------------	-----------	--------

Memo: Eggs include test groups for study.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2006

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	1,100	5,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2011	03/2011	1.100	0.2	5,500	BROODSTOCK	STEVENS CO LAKES		

Memo: CBH egg transfer between 1/15 to 1/31.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2007

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	4,100	15,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2011	03/2011	900	0.3	3,000	BROODSTOCK	LINCOLN CO LAKES		
03/2011	03/2011	100	0.3	333	BROODSTOCK	PEND OREILLE CO LAKES		
03/2011	03/2011	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2012	03/2012	1,100	0.2	5,500	BROODSTOCK	STEVENS CO LAKES		

Memo: CBH egg transfer between 1/15 to 1/31.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2008

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	4,100	15,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2012	03/2012	900	0.3	3,000	BROODSTOCK	LINCOLN CO LAKES		
03/2012	03/2012	100	0.3	333	BROODSTOCK	PEND OREILLE CO LAKES		
03/2012	03/2012	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2013	03/2013	1,100	0.2	5,500	BROODSTOCK	STEVENS CO LAKES		

Memo: CBH egg transfer between 1/15 to 1/31.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Brook trout (fontinalis)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	2,100	28
Received		
Planted	20,000	200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	06/2010	06/2010	FORD HATCHERY	2,100	75.0	28	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	20,000	100.0	200	JUVENILE	SPOKANE CO LAKES		

Memo:

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	26,600	1,645
Received		
Planted	291,000	24,150

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2011	04/2011	FORD HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2010	10/2010	6,000	20.0	300	JUVENILE	STEVENS CO LAKES		
10/2010	10/2010	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2011	04/2011	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2011	04/2011	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2011	04/2011	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2011	04/2011	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2011	04/2011	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

Memo:

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species:Cutthroat (clarki)Run:WESTSLOPEStock:KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	2,000	100
Received		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	06/2010	06/2010	FORD HATCHERY	2,000	20.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Thursday, July 29, 2010

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	45,000	2,250
Received		
Planted	298,280	46,720

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	DEER LK NET PENS	15,000	20.0	750	JUVENILE
Shipped	10/2010	10/2010	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

Memo: CBH egg transfer between 1/15 to 1/31.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2010	10/2010	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2010	10/2010	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2010	11/2010	125,000	20.0	6,250	JUVENILE	FERRY CO LAKES		
10/2010	11/2010	26,500	10.0	2,650	JUVENILE	FERRY CO LAKES		
03/2011	04/2011	52,000	4.0	13,000	JUVENILE	SPOKANE CO LAKES		
03/2011	04/2011	1,680	4.0	420	JUVENILE	STEVENS CO LAKES		
03/2013	03/2013	900	0.3	3,000	BROODSTOCK	LINCOLN CO LAKES		
03/2013	03/2013	100	0.3	333	BROODSTOCK	PEND OREILLE CO LAKES		
03/2013	03/2013	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2014	03/2014	1,100	0.2	5,500	BROODSTOCK	STEVENS CO LAKES		

Memo: CBH egg transfer between 1/15 to 1/31.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: tiger trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	10,000	500
Received		
Planted	46,000	2,300

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2010	10/2010	LOON LK NET PEN	10,000	20.0	500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2010	10/2010	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2010	10/2010	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		

Thursday, July 29, 2010

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Brook trout (fontinalis)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	24,600	253
Received	50,000	0
Planted	20,000	200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2010	12/2010	FORD HATCHERY	50,000		0	EGGS EYED
Shipped	05/2011	05/2011	COLVILLE HATCHERY	22,500	100.0	225	JUVENILE
Shipped	06/2011	06/2011	FORD HATCHERY	2,100	75.0	28	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	20,000	100.0	200	JUVENILE	SPOKANE CO LAKES		

Memo:

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	51,600	1,895
Received	375,000	0
Planted	290,000	24,100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2010	12/2010	FORD HATCHERY	375,000		0	EGGS EYED
Shipped	05/2011	05/2011	COLUMBIA BASIN HATCH	25,000	100.0	250	JUVENILE
Shipped	10/2011	10/2011	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2012	04/2012	FORD HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2011	10/2011	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2011	10/2011	5,000	20.0	250	JUVENILE	STEVENS CO LAKES		
10/2011	10/2011	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2012	04/2012	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2012	04/2012	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2012	04/2012	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2012	04/2012	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2012	04/2012	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

Memo:

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species:Cutthroat (clarki)Run:WESTSLOPEStock:KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	2,000	100
Received	105,000	420
Planted	97,000	4,850

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	COLVILLE HATCHERY	105,000	250.0	420	JUVENILE
Shipped	06/2011	06/2011	FORD HATCHERY	2,000	20.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	06/2011	62,000	20.0	3,100	JUVENILE	SPOKANE CO LAKES		
05/2011	06/2011	35,000	20.0	1,750	JUVENILE	STEVENS CO LAKES		

Thursday, July 29, 2010	Page 71
-------------------------	---------

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	7,300,000	
Shipping	4,450,700	3,250
Received		
Planted	1,151,780	53,370

Estimated Brood Data

Egg Take Goal 7,300,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2010	12/2010	CHELAN HATCHERY	655,000		0	EGGS EYED
Shipped	12/2010	12/2010	CHELAN PUD HATCHERY	100,000		0	EGGS EYED
Shipped	12/2010	12/2010	EELLS SPRINGS	40,000		0	EGGS EYED
Shipped	12/2010	12/2010	FORD HATCHERY	425,000		0	EGGS EYED
Shipped	12/2010	12/2010	LYONS FERRY HATCHERY	340,000		0	EGGS EYED
Shipped	12/2010	12/2010	MESEBERG HATCHERY	115,000		0	EGGS EYED
Shipped	12/2010	12/2010	OMAK HATCHERY	350,000		0	EGGS EYED
Shipped	12/2010	12/2010	REG 1 ED COOPS	5,700		0	EGGS EYED
Shipped	12/2010	12/2010	SPOKANE TRIBAL HATCHERY	1,200,000		0	EGGS EYED
Shipped	12/2010	12/2010	TUCANNON HATCHERY	175,000		0	EGGS EYED
Shipped	12/2010	12/2010	WELLS HATCHERY	125,000		0	EGGS EYED
Shipped	12/2010	12/2010	WSU RESEARCH (PULLMAN)	15,000		0	EGGS GREEN
Shipped	01/2011	01/2011	COLUMBIA BASIN HATCH	800,000		0	EGGS EYED
Shipped	05/2011	05/2011	CURLEW LK NET PEN	60,000	60.0	1,000	JUVENILE
Shipped	10/2011	10/2011	DEER LK NET PENS	15,000	20.0	750	JUVENILE
Shipped	10/2011	10/2011	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

Memo: CBH egg transfer between 1/15 to 1/31.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2011	05/2011	130,000	100.0	1,300	JUVENILE	FERRY CO LAKES		
05/2011	05/2011	300,000	100.0	3,000	JUVENILE	LINCOLN CO LAKES		
05/2011	05/2011	250,000	100.0	2,500	JUVENILE	SPOKANE CO LAKES		
05/2011	05/2011	75,000	100.0	750	JUVENILE	STEVENS CO LAKES		
5/2011	05/2011	100,000	100.0	1,000	JUVENILE	WHITMAN CO LAKES		
0/2011	10/2011	160,000	20.0	8,000	JUVENILE	FERRY CO LAKES		
0/2011	10/2011	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
0/2011	10/2011	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
3/2012	04/2012	52,000	4.0	13,000	JUVENILE	SPOKANE CO LAKES		
3/2012	04/2012	1,680	4.0	420	JUVENILE	STEVENS CO LAKES		
3/2013	03/2013	900	0.3	3,000	BROODSTOCK	LINCOLN CO LAKES		
3/2013	03/2013	100	0.3	333	BROODSTOCK	PEND OREILLE CO LAKES		
3/2013	03/2013	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2014	03/2014	1,100	0.2	5,500	BROODSTOCK	STEVENS CO LAKES		

Memo: CBH egg transfer between 1/15 to 1/31.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: MEADOW CREEK (MDCK)

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	500,000	0
Received	520,000	0
Planted		
	Shipping Received	Egg Take Shipping 500,000 Received 520,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	COLVILLE TRIBE HATCHERY	520,000		0	EGGS EYED
Shipped	11/2010	11/2010	COLVILLE HATCHERY	250,000		0	EGGS EYED
Shipped	11/2010	11/2010	COLVILLE TRIBE HATCHERY	250,000		0	EGGS EYED
Established Balance	Data						

Estimated Release Data

	_	_						_
Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Eggs for Thermal Marking.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: SULLIVAN LK STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	400,000	
Shipping	175,000	0
Received		
Planted		

Estimated Brood Data

Egg Take Goal 400,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2010	01/2011	FORD HATCHERY	175,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Thursday, July 29, 2010

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: tiger trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	10,000	500
Received	65,000	867
Planted	46,000	2,300

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2011	06/2011	FORD HATCHERY	65,000	75.0	867	JUVENILE
Shipped	10/2011	10/2011	LOON LK NET PEN	10,000	20.0	500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2011	10/2011	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2011	10/2011	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		

Thursday, July 29, 2010

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	750,000	33,333
Received		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	06/2010	06/2010	SHERMAN CR HATCHERY	300,000	90.0	3,333	JUVENILE
Shipped	10/2010	10/2010	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo:

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	750,000	33,333
Received	1,200,000	0
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2010	12/2010	SPOKANE HATCHERY	1,200,000		0	EGGS EYED
Shipped	06/2011	06/2011	SHERMAN CR HATCHERY	300,000	90.0	3,333	JUVENILE
Shipped	10/2011	10/2011	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Taggod
Start Date	End Date	Num kelease	FPP	i otai Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo:

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year: 2010

Species: sockeye salmon (kokanee - landlocked)

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	300,000	12,000
Received	1,800,000	0
Planted	500,000	7,143

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2011	01/2011	LK WHATCOM HATCHERY	1,800,000		0	EGGS EYED
Shipped	03/2012	03/2012	SHERMAN CR HATCHERY	300,000	25.0	12,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2011	10/2011	300,000	70.0	4,286	JUVENILE	BANKS LK (GRAN)		
10/2011	10/2011	200,000	70.0	2,857	JUVENILE	ROOSEVELT LK (OKAN)		

Memo: Portion of program maybe BC stock.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Chinook salmon (tshawytscha)

Run: SPRING

Stock: TUCANNON R 35.0009

Brood Origin: MIXED **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	LYONS FERRY HATCHERY	230,000	30.0	7,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	112,500	9.0	12,500	JUVENILE	TUCANNON R 35.0009	VIE	✓
04/2011	04/2011	112,500	15.0	7,500	JUVENILE	TUCANNON R 35.0009	VIE	✓

Memo: Transferred at 25-30 fpp. For release from Curl Lake Acclimation Pond.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	141,500	45,256

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Memo:

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2011	05/2011	800	0.7	1,194	JUVENILE	ASOTIN CO LAKES		
02/2011	05/2011	1,800	0.7	2,687	JUVENILE	COLUMBIA CO LAKES		
02/2011	05/2011	300	0.7	448	JUVENILE	FRANKLIN CO LAKES		
02/2011	05/2011	850	0.7	1,269	JUVENILE	WALLA WALLA CO LAKES		
02/2011	05/2011	250	0.7	373	JUVENILE	WHITMAN CO LAKES		
04/2011	06/2011	30,000	3.5	8,571	JUVENILE	ASOTIN CO LAKES		
04/2011	06/2011	59,500	3.5	17,000	JUVENILE	COLUMBIA CO LAKES		
04/2011	06/2011	10,000	3.5	2,857	JUVENILE	FRANKLIN CO LAKES		
04/2011	06/2011	500	3.5	143	JUVENILE	GARFIELD CO LAKES		
04/2011	06/2011	28,500	3.5	8,143	JUVENILE	WALLA WALLA CO LAKES		
04/2011	06/2011	9,000	3.5	2,571	JUVENILE	WHITMAN CO LAKES		

Memo:

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Chinook salmon (tshawytscha)

Run: SPRING

Stock: TUCANNON R 35.0009

Brood Origin: MIXED **Integrated/Segregated:** INTEGRATED

 Total #
 Total Pounds

 Egg Take
 Shipping

 Received
 230,000
 7,667

 Planted
 225,000
 20,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	LYONS FERRY HATCHERY	230,000	30.0	7,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	112,500	9.0	12,500	JUVENILE	TUCANNON R 35.0009	VIE	✓
04/2012	04/2012	112,500	15.0	7,500	JUVENILE	TUCANNON R 35.0009	VIE	✓

Memo: Transferred at 25-30 fpp. For release from Curl Lake Acclimation Pond.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	2,750	0
Received	175,000	0
Planted	141,500	45,256

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2011	01/2011	REG 1 ED COOPS	2,750		0	EGGS EYED
Received	01/2011	01/2011	SPOKANE HATCHERY	175,000		0	EGGS EYED

Memo:

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2012	05/2012	800	0.7	1,194	JUVENILE	ASOTIN CO LAKES		
02/2012	05/2012	1,800	0.7	2,687	JUVENILE	COLUMBIA CO LAKES		
02/2012	05/2012	300	0.7	448	JUVENILE	FRANKLIN CO LAKES		
02/2012	05/2012	850	0.7	1,269	JUVENILE	WALLA WALLA CO LAKES		
02/2012	05/2012	250	0.7	373	JUVENILE	WHITMAN CO LAKES		
04/2012	06/2012	30,000	3.5	8,571	JUVENILE	ASOTIN CO LAKES		
04/2012	06/2012	59,500	3.5	17,000	JUVENILE	COLUMBIA CO LAKES		
04/2012	06/2012	10,000	3.5	2,857	JUVENILE	FRANKLIN CO LAKES		
04/2012	06/2012	500	3.5	143	JUVENILE	GARFIELD CO LAKES		
04/2012	06/2012	28,500	3.5	8,143	JUVENILE	WALLA WALLA CO LAKES		
04/2012	06/2012	9,000	3.5	2,571	JUVENILE	WHITMAN CO LAKES		

Memo:

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2010

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: TUCANNON R - ENDEMIC

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

Total # Total Pounds

Egg Take
Shipping
Received 75,500 13,727
Planted 75,000 16,666

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2011	02/2011	LYONS FERRY HATCHERY	75,500	5.5	13,727	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	55,000	4.5	12,222	JUVENILE	TUCANNON R 35.0009		✓
04/2011	04/2011	20,000	4.5	4,444	JUVENILE	TUCANNON R 35.0009	PT	✓

Memo: Acclimate at Tucannon Hatchery prior to release.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2011

Species: steelhead (Oncorhynchus mykiss)

Run: SUMMER

Stock: TUCANNON R - ENDEMIC

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	75,500	0
Planted	75,000	16,666

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2012	02/2012	LYONS FERRY HATCHERY	75,500		0	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	55,000	4.5	12,222	JUVENILE	TUCANNON R 35.0009		✓
04/2012	04/2012	20,000	4.5	4,444	JUVENILE	TUCANNON R 35.0009	PT	\checkmark

Memo: Acclimate at Tucannon Hatchery prior to release.

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	24,500	1,225
Planted	24,000	4,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

Memo:

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2009

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	30,000	1,500
Planted	23,500	4,700

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2010	10/2010	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2011	04/2011	23,500	5.0	4,700	JUVENILE	WAITTS LK (STEV)		

Memo:

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: Brown trout (trutta)

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	24,500	1,225
Planted	24,000	4,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

Memo:

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2010

Species: Rainbow trout (mykiss)

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	30,000	1,500
Planted	23,500	4,700

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2011	10/2011	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2012	04/2012	23,500	5.0	4,700	JUVENILE	WAITTS LK (STEV)		

Memo: